Model
Representation

HLHA D2lE]

HLHA

Specification

Model

Cylinder capacity (when the oil pressure
is 7MPa)

When the oil pressure

Clamping pressure is 7MPa

force %1
Clamping arm length (LH)
Main rod diameter
Bore of cylinder
Cylinder area (clamping)
Full stroke
Rotation stroke
Clamping stroke
Rotation angle accuracy
Clamping location repeat accuracy
Maximum working pressure
Minimum acting pressure
Pressure resistance
Operating temperature

Use fluid

Oil Pressure Double-acting Rotary Cylinder

(D Dimensions (refer to

specification sheet)

0360
0400
0480
0550

(kN)

(kN)

(mm)
(mm)
(mm)
(cm?)
(mm)
(mm)

(mm)

(Mpa)
(Mpa)
(Mpa)

0650
0750
0900
1050

HLHA0360

2.4

30
15
26
35
13.5
5.5

Compact, high-capacity, durable, cost-effective
rotary clamp

(Example: HLHA0480-CR)

(@) Clamping arm installation direction

CL: Left CL CR
CR: Right peee W
HLHA0400  HLHA0480  HLHA0550  HLHA0650  HLHA0750  HLHA0900
325 425 7 9.2 14.1 205
2.8 4.15 6.15 7.95 12.3 17.35
40 50 50 50 50 60
18 22 25 30 355 45
31 37 44 51 62 76
4.8 6.8 10.2 13.2 20.1 293
14.5 15.5 18.5 20 24 26
65 75 85 10 12 14
8 8 10 10 12 12
90°+3°
+0.5°
7
15
10.0
0-70

(ISO viscosity grade ISO-SG-32 general hydraulic oil)

HLHA

HLHA1050

28.65

24.55

80
55
91
41.2
32
16
16



Oil Pressure Double-acting Rotary Cylinder
HLHA

Overall
Dimension
Ny
Clamping oil port I~ i

Release oil port f

Nut (attached) 8 A __ Thread X

W

B

‘Taper 1/10

i

Taper sleeve (attached) ,a". 2 BB
et

He

Release oil port: Rp thread*3

(speed control valve can only be installed for type C) |

{-a R

1
2-G plug (attached)

(type C only)
Clamping oil port: Rp thread

Taper hole ®Q

Type R (Type L: 180°reverse)

(speed control valve can only be installed for type C)

Precautions:

2¢ 1. The locating groove of the pressing plate faces the side of the oil supply

port during clamping.

2% 2. This product does not come with installation bolts. The user is required to
equip the equipment according to the installation height and the S dimension.
2% 3. This product does not come with a speed control valve. Please refer to Page

80 for additional equipment.

a

CClocating groove *1

Processing Dimension of
Installation Position

Debur _._3@"
) 0.6

-t

S
N
NN "

\
AR

; \Y\\\\‘\\\\\\\
\%\\\ .
N
o

N\

NN
NN

— —

Oilreleasep.o.rtd)P |
| o o

Ny

Ny

@
0il clamping port ®P J.,J)L 1/

FLVANT BELE)

4-EA thread V4 ok

Precautions

1. Please refer to the HF dimension and determine the
depth of the body installation hole ®HD according to the
installation height.



0il Pressure Double-acting Rotary Cylinder

Overall Dimension and Installation Part
Processing Installation Table

Model

Full stroke
Rotation
stroke
(90°)
Clamping
stroke
HA

HB

HC

HD

HE

HF

Fu

SEEXRT DO

Z

X

Z
<

< cHHwvwxo

w

X (nominal
x pitch)

Y

Z (chamfer)
AA

AB

AC

BA

BB

CA

CB

GG

EA

JA

B

Rp thread
plug

O-seal ring

Type RP

Duri
Cylinder e

capacity
cm?

clamping
During
release
Weight X

k
8 g

HLHA
0360-"
13.5

5.5

104.1
49
40
36

64.5
39.5
64.5
25
29
20
31.5
66
11
23.5

7.5
4.5
16
15.5
15f£7
13
11

M14x1.5

5
C2
22

7

24.5
14
17

0
670.05

6.5
43005

M4x0.7
3.5
14

RP1/8

4.8x1.9
4.8

Yol

0.7

HLHA
0400-"
14.5

6.5

115.1
54
45
40

71.5
46.5
68.5
25
31.5
22.5
34.1
73
11
26

5.5
15
16.5
18 f7
15
12

M16x1.5

6
c3
24

8

26.5
16
20

72005
6.5
43005
M5x0.8
815
14

RP1/8

4.8x1.9
7.3

10.9

0.9

HLHA
0480-"
15.5

7.5

128.6
61
51
48
79
51

77.5
28
355
25.5
40.1
83
13
30
11

5.5
17.5
17.5
22 £7

18

14

M20x1.5

8
C3
30

9
33
19
25

9505
7.5
5£005
M5x0.8
3.5
14

RP1/8

4.8x1.9
10.8

16.7

1.4

HLHA
0550-"
185

8.5

10

145.6
69
60
55
89
59

86.5
30
39
30

47.1
88
12

335
12

11
6.8
17
20.5
251z
21
15

M22x1.5

8
C3
32
10

355
22
28

102,05
9.5

67005
M6
3.5
14

RP1/8

4.8x1.9
19

28.1

HLHA
0650-"
20

10

10

156.1
81
70
65
94
63
93
31
46
35

55.1
106
13
39.5
15
5
11
6.8
17
22

307
24
16

M27x1.5

10
C4
41
11
45
25
34
1252945
11.5
67005
M6
4.5
19

RP1/4

6.8x1.9
26.7

40.9

2.9

HLHA
0750-"
24

12

12

181.1
92
80
75

109
71
110
38
52
40
63.1
116
16
45
16
5
14
9
21
26
35.5f7
30
16

M30x1.5

10
C5
46
11
50
31
40
14%05
12.5
83005
M8
4.5
19

RP1/4

6.8x1.9
48.7

72.5

4.2

HLHA

HLHA
0900-"
26

14

12

203.1
107
95
90
120
74
129
46
59.5
47.5
75.1
136
19
52.5
18.5

17.5
11
25
28

45 £7
37
18

M39x1.5

14
C6
55
12
60
38
49
185%05
11.5
87005
M10
4.5
22

RP3/8

6.8x1.9
76.6

117.9

7.2

(mm)
HLHA
1050- "

32

16

16

240.1
122
110
105
144
88
152
56
67
55
88.1
152
22
60
22.5
5
20
14
32
34
55 {7
43
19

M48x1.5

14
C6
65
12
71
44
60
23%0s
13.5
103005
M12
4.5
22

RP3/8

6.8x1.9
132.1

208.1

10.1



HLHA-D

0il Pressure Double-acting Rotary Cylinder

Double-rod Type

Overall Processing Dimension of
Dimension Installation Position
e
Clamping oil port - =

Release oil port

Nut (attached)

DE thread

DD

N

B

$A o ThreadX

=
=
T

e

! Release oil port ¢ P*5

o |

Exl

HF

A
Clamping oil port ¢ P*5 /"~

4-EAthread*4 ok

Precautions:

Pt SRS T E— 4. Please refer to the S d1men§10n and determllne the EA
ot i thread depth of the installation bolts according to the
E v installation height.
g
21 L1
[ wih .
Release oil port: Rp thread*3 A
(speed control valve can only be installed for type C) . s
I
1
|
= i
s
et 1f| ] ::| =
b
1
| - e §
2-G plug (attached) \ Taper hole ¢ Q
1 A
(type Conly) ", CClocating groove
Clamping oil port: Rp thread*3 i Type R (type L: 180°reverse)
(speed control valve can only be installed for type C)
Precautions:
»¢ 1. The locating groove of the pressing plate faces the side of the oil supply port during
clamping.

»¢ 2. This product does not come with installation bolts. The user is required to equip the
equipment according to the installation height and the S dimension.

% 3. This product does not include the speed control valve. Please refer to Page 80 for
additional equipment.

% Please inquire separately when using in combination with other detection methods and
options.



Double-rod Type Oil Pressure Double-acting Rotary Cylinder ///-

HLHA @ = @ @ (Example HLHAQ550-CRD)

(1) Dimensions (refer to specification sheet) @ Rotation direction (during damping) @Special specification mark

0360 0650 L: turn left

0400 0750
HI-HA 0480 0900 D: double-rod type

e R: turn right

0550 1050

{mm)
L1585 85 00 | M | 2% | 32
[ 75 85 | 1 [ B | uw [ 16
. S 10 | 10 N S S > S S L
1416 1566 | 1601 | 1941 | 2161 | 2531
| 6l & . & % w2
{ 5L € | 70 | & | o | 10
48 55 | e [ 1 | e | 105
a2 a2 | 97 | 112 123 | 147
; 95 | s R | e | ™ | T | 9l
Fu | 64.5 685 | 775 86.5 | 93 | 110 129 | 152
G | 5 a0 L 20 D L =B | 46 | 56
H |2 315 | 355 39 | 46 | 5 | 585 | &F
4 | 2 | 25 | 255 | 3% | 3 | 40 | 45 | 55
K | 315 U1 | 4l 411 | s51 | 63l | 751 | 8al
L ' 66 73 a3 88 106 116 136 152
M [ 3 11 [ 13 2 13 16 19 2
Nx ns % 30 B85 | x5 | 45 | sm5 | 60
Ny | 8 g o | 1| 1. 185 | 25
P 3 3 3 3 | 5 5 5 5
Q | 75 9 | 9 11 | 11 | 14 5 | 20
R 45 5.5 ] 6.8 | 6.8 9 11 14
5 ' 16 15 | 17.5 17 | 17 |2l | 25 I 32
T | 185 | 165 | 175 205 | 2 | % | 28 | 34
u | 157 18fr | nft af1 | 30fr | 35 | 45 | 55
v ; 12 15 18 21 7 " I - A
W u o u B | 1§ | % | ® [ 1§
X (omina < k). | MMx15 | MI6X15 | M20X15 | M2X1S | M2TXL5 | M30X15 | M3OXL5 | M48X15
— [ s | & [ 8 [ 8 | w0 [ o [ =w [ w
2 [chamder) | C2 [ | 3 c3 | 4 Ch C6 6
A I e | 0 2 | 4 | 44 | 55 | &
AR | 7 8 5 lCI_ | 11 11 12 12
AC | 245 %5 3 55 | 45 | =0 | 80 | 71
BA | & | 18 2 | » | 3N | 3\ [ 44
B | 17 20 | 5 8 | M 0 40 | 49 | 60
cA ; 6.5 Tdm | 00w 105 |  125.0m | 4.3 | 1850w |  23.0m
Ce | 85 65 | 75 95 | 15 | n»s | U5 | B5S
cc [ &% [ 4% [ 5% | 6% | 6% | 8% | 8o | 0%
DA | | i 4 | ¥ s | B | 18
[1]5] | 8 10 10 10 | 10 10 10 10
- DC I 25 3 i 3 3 l 3 ; 3 | 3 : 3
0D [ 25 29 36 36 | 43 50 65 80
T8 et k] | M4x0.7x10 M6x15 | M8x18 | MBx18 | M8x1s8 | MlOxal MIOx21 | Ml0x2l
OF : 6 10 | 12 E I - 6 | B | 16
EA | M4x07 M5x08 | M5x08 Mo | M6 | M8 | MI0 | ML
_JA | 35 5 | 35 35 | 45 | 45 | 45 | 45
B | 14 14 ! 14 14 | 19 5 19 [ &% ] 5]
| 0l supply port for clamping Type kP RP1/8 RP1/2 | RPLE RPL/E | RPLA RP1/4 RP3/8 RP3/8
Oring | 48x19 | 48x10 | 48x19 | 48x10 | 68x19 | 68x19 | &8x19 | 68xLH
: During & amping 48 73 10.8 19 | 26.7 487 T6.6 132.1
an e LT 93 | 13 83 | s | e4 | 13 [ w0
 Weghtsis kg | 07 0.9 [ 14 2 | 3 : 42 7.3 | 103

Precautions 6. It indicates the weight of the rotary cylinder including the nut and taper sleeve.




H LH A' M Oil Pressure Double-acting Rotary Cylinder Air Sensor Plate Connection Type

Overall Processing Dimension of
Dimension Installation Position

C: plate (attached RP thread plug)
Debur*7 - aliba -

Ny \
Clamping oil port Rl

#EF LD
N
1
I
N Y
104

il 0,

.// o]
= =
=| A = s H
| i = %
Release oil port 3| 1 A | Il |
2| = l 4 o’
= Ry ’,1} ¥ 1
N i i F
Nut (attached) o w A . Thread X . -5 77
e e s = . l A
A S I
i 1 © =
I
| 5]
| S
. -
. 3 | ca
g | | =
 dakal L d 1
rTapersleeve (attached) a Bl J—

: ! Air release confirmation port
[ ——
3-0-ring I* Air clamp confirmation port . A
& (attached) - i — 0il clamping port ¢ P*7* ;
4 4-EAthread*4 ./ K
' z Vent*4
— ent .
ol — Precautions:

2 4. The vent must be open to the atmosphere, and the intrusion
of coolant and chips must be prevented.

% 5. Please refer to the S dimension and determine the EA thread
depth of the installation bolt according to the installation height.
2¢6. Dimensions indicate the dimensions under the flange.

Release oil port: Rp thread*3

(speed control valve can only be installed for type ) ™

i

|
ul =
1

2-G plug (attached) Taper hole & Q
type C onl
(type C only) y ® CC locating groove*1
Clamping oil port: Rp thread*3 ¥ Type R (Type L: 180°reverse)
(only type C can be installed with speed control network)

> This figure shows the released state of the HLHA-CRM

Precautions:

»¢ 1. The platen positioning groove faces the oil supply port side when it is clamped.

»¢ 2. Installation bolts are not included with this product. Please configure it by yourself according to the
installation height and with reference to the S dimension.

¥ 3. This product does not include the speed control valve. Please refer to Page 80 for additional
equipment.

»Please inquire separately when using in combination with other detection methods and options.



Air Sensor Plate Connection Type il Pressure Double-acting Rotary Cylinder ///-

HLHA (0)-(2)(3)  (Example HLHA0550-CRM, HLHA0750-SLM))
(DDimensions (refer to specification sheet) (@ Rotation direction (during clamping) @ Special specification mark

0360 0650

L: turn left
0400 0750
HLHA 0480 0900 - R: turn right M: Air sensor plate connection type
0550 1050

| Pullswoke 135 | 145 155 ! 185 ; 20 [ b [ 2 [ 12
| Hatatian stmoke (90°) 55 65 5 | 85 | 1 12 14 16
Clamping ke 8 ] 8 10 10 12 12 16
|_HA Amlo 0 US1 @6 . 8§ W&l sl el 0l
HE 42 54 &1 | 6% 81 a3 107 122
| HC 40 & s [ e [ m 8 % 10
HD % 40 48 | 55 &5 75 50 105
| HE 845 715 i) | 85 | o 109 120 142
HF 35 465 51 , 59 . &3 7l 13 as
Fu #45 BES 75 865 | 9 110 129 152
3 5 25 b £l £l 18 a8 56
H | ] 315 | 355 | 3 I 4% 52 505 &7
J 20 as 255 30 = 40 45 55
LK 315 341 w1l [ a1 [ 1 | e1 | w1 8.1
| L &6 13 8 | 8e : 106 L16 136 152
M 11 1 12 , 12 13 16 19 n
Nx 15 % 0 135 ' 45 325 &0
Ny 8 ] 11 ! 1 I 15 16 185 ns
| P 3 3 3 ' 3. 5 5 3 5
Q 75 [] 3 | 11 | 11 14 175 0
R 45 55 55 | 58 [ [ 1 14
s 16 15 115 , 17 17 2 b3 2
i 155 | 165 s 1 w5 | @ % | 0= EL}
U B | 1sm@ 2w | sk | 3\ | 385% 4517 557
v S S 18 ' aA 4 | W | s ] 483
W 11 [ 1 14 [ 5 I | 16 | 19
¥ (ominal - pitch) _M14x15 MIExLS | MHOXLS | MzZx15 | M27Tx1S MIOXLE | M3x15 | MAEXLS
Y 5 6 TN IS SN NS N N T SN S
| Z(chamer) c2 3 a [} 4 5 6 6
LA 2 o EL) | = ' 4l % | 5 | &
4B 7 8 g I 10 11 11 | 12 | 12
AC 45 65 EE] I 355 | 45 50 &0 71
| BA M 16 19 I L . ] ! 3 ! 3 | 4
. BB R n 5 | ® . S| o | 9 2| &
CA 6_cus o 9 _dns 10 5z | 125 g 14 g 185 _iw 3 i
_CB &5 L 75 | 95 | {us 12y 0 15 135
. €6 4 | 4-1 5-:‘;]0& | '5‘%"' . § Um | g am | g i® | 10408
| EA MAXQT | Msx08 | Msx08 | we | Me | M8 | Mo | ML
MATS W55 B 5is | 535 553 5350 533 5]
|_MAe asgm | g . uncilll 4590 | Asp | 533 | sage | 53
| MB E7] | 33 B85 ; 385 ; 05 [ 49 | 49 | 575
NC 57 392 462 | 462 | 462 542 542 543
|_MD 434 . 51.5 854 ' 724 ; 754 L 8BS | Bas J—1
| ME 624 . 05 789 | 86,0 I 929 | 106 | 109 | 126
MF 40 47 = I Bl | & M| LLER— Ll
| MG . | 8 74 i 79 | 838 | s | LS | 75
|_MH 8 | 8 s | 9 | 8 | 0 | 10
L — | 4 45 | 45 | 45 a5 95 95
MK &5 a5 8 I ] ] 11 it 165
| WL 734 | 85 514 | 994 [ 184 | 12 [ 18 | 1415
MM L1 L5 15 | 15 ; L5 | 15 | L5 | 15
1 15 15 s [ 5 [ 45 45 45 45
‘L. 14 | M | u__ | 1 | 19 | a2 | 22
{08 sk et Fox chanping Tyge RE: RPLS | RPLA RPLS | RPIB | RPl/A | RPA | RP38 | RPYB
=== T N - - I - - I
Weightia ke | 03 ' 1 16 ! 22 | 11 45 16 105
Precautions %% 8. Itindicates the weight of the rotary cylinder including the nut and taper sleeve.

1. If you want to use the embedded air sensor, please call us.




H LHA N 0il Pressure Double-acting Rotary Cylinder Air Sensor Pipe Connection Type

Overall Processing Dimension of
Dimension Installation Position

C: plate (attached RP thread plug)

Clamping oil port _//\_ Nx =

2-NG thread*4

AAODOOAANANNDNNNNN |

20000

Thread X

S ——

T P I | N#h
o] | Oil release port ¢ P*6 -
iz Nl
f X
- 5,
=
1 £l
=
2 o —
=t
= 1 Oil clamping port ¢ P*6 -':(\_
s A thread "5 £
g s - ok -
1 1
Precautions

»¢ 4. The vent must be open to the atmosphere, and the intrusion of
coolant and chips must be prevented. If it is in direct contact with the
coolant, accessories should be installed at the NG thread to prevent the

. i 1§ . intrusion of the coolant. However, the vent is not allowed to be blocked.
IAir r'elea:e — 5. Please refer to the S dimension and determine the EA thread depth
port Re1/8 ; of the installation bolt according to the installation height.
—1KD
! ET Phase of Clamping/Release
= bt Confirmation Port
1 1 =
Air clamping confirmation o e . Vent *4
portRe1/8 = N: standard phase
: HE
Release oil port: Rp thread*3 JAIZ | 27
(speed control valve can unl:j_be_nrtalgmrTy;-C]_\\.. = - = -1 '/_
S
| T
i : P

2-G plug (attached) f" Taper hole ¢ Q
AN
(type C only) / " & CClocating groove*1
Clamping oil port: Rp thread*3 ' Type R (Type L: 180°reverse) 4 Part, release confirmation Part, clamping confirmation
(speed control valve can only be installed for type C) port port

% This figure shows the released state of the HLHA-CRN type.

Precautions:

2 1. The platen positioning groove faces the oil supply port side when it is clamped.
2. Installation bolts are not included with this product. Please configure it by yourself
according to the installation height and with reference to the S dimension.

2 3. This product does not include the speed control valve. Please refer to Page 80 for
additional equipment.

2 Please inquire separately when using in combination with other detection methods
and options.



Air Sensor Pipe Connection Type ~ Oil Pressure Double-acting Rotary Cylinder ///-

HLHA (1)-(2)(3)  (Example HLHAO550-CRN)

(DDimensions (refer to specification sheet) (@ Rotation direction (during clamping) @ Special specification mark

sl
HLHA 0480 0900 o B g N: external piping type of air sensor
0550 1050

| Pl stroke | 135 . 145 155 185 : n 2 . % . JEF]
| Ronation sroke 90) 55 | e | 35 | 8 | 0w | 1@ | W | W
| Olamping stroke 3 B 8 10 10 12 12 16
el | 151 1285 456 | 1561 8Ll | 03l [ 240l
49 | 54 Bl il | 81 a2 107 ]_,22
© | &5 & B T 80 % 110
o Al 48 &5 5 a0 105
B45 | 7IS 7 89 | T T I N 7
385 465 5] 50 3 n 122 | ]
645 ' [ 715 865 ! 93 110 ' 129 153
b 25 28 n u EL] 6 56
» | Aus %55 L] | % 52 595 &7
n L ns 65 o | 3% 40 415 55 |
315 Ul 40.1 a1 | 5l 631 TEL Bl
&6 73 B3 B8 | 106 116 13__6 ]_,_5_2
1 1 13 12 i 13 16 19 ]
235 26 0 a5 305 45 525 [<1]
g ] 11 12 | 15 16 18_.5 12.5
] 3 3 3 5 5 5 5
15 g Q 11 | 11 14 175 20
45 55 &5 68 . 68 ] 11 L]
16 15 115 17 [ 17 1 x kY]
155 | 165 s w5 | 01 ¥ | ]
1517 186 T AT | 3@_["-" Esﬁ' 15_[7 E_Ij"
13 15 ] a1 | # | 3 | ;@ | &8 |
11 12 14 15 | 16 16 18 19
 MI4X15 | MIEXLS | MIOXLS | MIIX15 | MITXL5 | M30XLS | M3OX1S | M4BXLE |
5§ |6 8 I B TR A " SN N
2 c3 [k} ] c4 5 (o] C6
2 | aw T wm T w4 [ 4 ] % | &
T | 8 g 0| n 11 . | B
245 265 33 355 | 45 50 | a0 Tl
Mmoo 19 n__| % n__ 0w m
I | A 5 i | T | I L ]
6.0 T 3 [ 10_%, 125 3. 1.5 ] 185 0. EE
65 | 85 15 95 [ W5 [ 15 | 15 15
Alﬂnﬁi | ) d_lﬁpl'ﬂ Elr!“ El%ﬁ | s -ﬂuﬂi a It:alﬁ | B lﬂuﬁﬂ | lg lllal'ﬂ
MAXDT | M5X08 | M5x08 ME | M6 N R
355 w5 45 45 45 53 53 3
2| = 385 ® 408 9 | & | 55
08 ) 11 1 1 12 13 E]
117 [ 13 145 145 | 145 05 [ 05 | 24
17 . 19 2 2 | =2 us | 45 | S
5 | » B 8| % s | m | W
MIX05x5 | M3xXD5x5 | M3IX05x5 | MIx05x5 | MIxD5x5 | MAXOTxX6 | M4XOTXE | M4x0Tx6
5 | 35 (= 38 | %5 T a5 T 45 | 45
4 1 14 14 | 1 v | 2 | =2
|Gl suppiy partfor damping TypeRP RPLE RP1/8 RPL/8 RPB | RPLM | RPLA  RPIA RIS
| Oesealring 4819 _dlsxl.g 48x19 48=19 BEX1D 68x1% ﬁ.sx_l.g BAX]1G
| Hrsealning WETXLT8 | MESxLTE | 41xLT8 Ax178 | 41x178 4T3/X1T8 | 4735x178 | 4TBXLIE
During clamping : : ;
e atmtiat ™ S ¢ 143 R & | a3 |
| Weight®i7 ke [ 08 A 16 T | 31 45 76 106

Precautions X7 It indicates the weight of the rotary cylinder including the nut and taper sleeve.

1. If you want to use the embedded air sensor, please call us.




HLHA-P

Overall
Dimension

C: plate (attached RP thread plug)

Clamping oil port

Release oil port

N

T e

!

2-0-ring

Release oil port: Rp thread*3

(speed control valve can only be installed for type C)

2-G plug (attached) / 4
(type C only)
Clamping oil port: Rp thread*3

(speed control valve can only be installed for type C)

@ f-a R

Taper hole ¢Q

% This figure shows the released state of HLHA-CLI-P.

Precautions:

0il Pressure Double-acting Rotary Cylinder

Double-clamping Arm Type

Processing Dimension of
Installation Position

03
Debur *6 el o

e
5

NN

: 2 AW i
Y e

Nukh
Oil release port ¢ P*6

o
$.

o
O

4-EA thread*4 / Ox

Precautions:

> 4. Please refer to the S dimension and determine the EA
thread depth of the installation bolt according to the
installation height.

X 5. Please refer to the HF dimension and determine the
depth of the body installation hole ® HD according to the
installation height.

Double-clamping Arm
Reference

Bolt Plate spring for maintaining the
posture of the platen

platen

2 1. When the pressure arm position must be maintained, use the screw (PH thread) at the top of

the piston rod.

% 2. This product does not include the installation bolts. The user is required to provide the
equipment according to the installation height and the S dimension.
% 3. This product does not include the speed control valve. Please refer to Page 80 for additional

equipment.

% Please inquire separately when using in combination with other detection methods and options.



Double-clamping Arm Type ~ Oil Pressure Double-acting Rotary Cylinder

HLHA 0-2®

(Example HLHA0550-CR-P)

(UDimensions (refer to specification sheet) 2 Rotation direction (during clamping) (@) Special specification mark

0360
0400
0480
0550

HLHA

0650
0750
0900
1050

L: turn left

R: turn right

P: double-cdamping arm

Ful strke 135 [ 145 155 | 185 o 24 [ 2% 2
* Rotation stroke (907 85 | 8s 15 | 8 10 T n [_ u | .
Clampingstrmke a B B | 10 10 12 | 12 16
T w1 | um 1285 1436 1561 Bl | 03 781
HE 49 54 &1 | 6% Bl 92 | 107 122
He O I ] L o = w |
HD % a0 T 55 & 75 | W 105
e s | ms » | = ] w | m W |
HF ®5 | 485 51 ! 59 &3 n o B |
i 25 | 65 S| W5 o w e i
G s | % B 0 2 2 T %
I » | s w8 | ® 4 T @ |
J 0 | ns F 0 ES 40 T 55
K a5 | 01 | a1 551 B1 | 151 8.1
L & 7 e 88 106 ue | 1% 152
M I n 3 on 13 6 | 19 7
Nx 15 | 2 1 35 85 | m5 50
Ny 8 | g 1 , 12 15 16 185 25
= —t = < = =
Q 15 | 9 s | un 1 4 175 2
R 45 55 55 | 68 68 9 I 1 14
5 s | 15 175 17 1 2 % 2
[ 57 l8ff uf F3i 01 .57 451 5547
2 (chaner) c2 | 3 a c3 (7] s (o] 6
A WXQT | MSX08 5% 08 M6 e [ MO w2 |
PA 7 i 8 10 12 14 16 2 % |
PR 135 16 P 2 ® 215 43 25
PC & | 3 8 B 13 12 16 0
PD 9 11 12 125 165 19 235 255
PE — x| = | 35 : : ~ sm5 | 585 |
PF n l 5 22 54 B
P‘:'B 155 i 16.5 185 . ] 34 ’
PH | mmx0s | Mexos Mex0T ua Mg |
i as | 35 a5 a5 a5
JB [ 14 22 22
0 supply port o clamping, Type I RPLE RPYE RP3
O-seal ring 4Bx19 BEX19
e X1 AXLTE  4735x178 | AL .
inder apactycnd TEATRERS Y 0 e | i 81
Wesght's7 " | 0s | 13 | 19 28 4 | 1 98

Notes: 7. It indicates the weight of a single rotary cylinder.

/7 HLHAP




HLHA-Q

0il Pressure Double-acting Rotary Cylinder

Extended Stroke Type (1/2)

Overall Processing Dimension of
Dimension Installation Position
C: plate (attached RP thread plug) Debur *6 ohD's’
I (0.6

Clamping oil port

AN

N

____________ 9
Vi P 777

Oil release port ¢ P*6
S .

Oil clamping port & P*6 /

4-EA thread*4 / oK

Precautions:

% 4. Please refer to the S dimension and determine the EA thread
depth of the installation bolt according to the installation height.

2% 5. Please refer to the HF dimension and determine the depth of
the body installation hole @ HD according to the installation height.
2 This processing shows the case of -C: plate connection type.

Release oil port: Rp thread*3 i

(speed control valve can only be installed for type C) ™.
- e s

e

i

¥
¥

2 o

/

e |/

L/
2-G plug (attached) /
(type C only) ,_,’

Clamping oil port: Rp thread*3

i-a R

.'\ Taper hole & Q

¢ CClocating groove*1
Type R (Type L: 180°reverse)

(speed control valve ca;oinliyibe installed for type C)

% This figure shows the released state of HLHA-CR-Q.

Precautions:

2 1. The platen positioning groove faces the oil supply port side when it is clamped.

% 2. Installation bolts are not included with this product. Please configure it by yourself
according to the installation height and with reference to the S dimension.

2% 3. This product does not include the speed control valve. Please refer to Page 80 for
additional equipment.

2 Please inquire separately when using in combination with other detection methods
and options.



Extended Stroke Type (1/2) Oil Pressure Double-acting Rotary Cylinder

/74 HLHAQ.

HLHA (V-2 3  (Example HLHA0550-CR-Q20)
(DDimensions (refer to specification sheet) @) Rotation direction (during clamping) @ Special specification mark
e il Lt et O e e
I Q25: damping stroke 25mm
HLHA 0480 0900 B i gt Q0 clamping sroke 30mm
0550

{(mm)

Option madel 57 QIS | Q20 | 25 | Q30| Q15| Q20 | 025 | Q15 | Q20 | 025 | Q1S | Q20 | Q25 | QIS | Q0| Q25| Q0 fm | @5 | ow | s

Fulltrake FOFEERE T 2&5|3¢5|225 5| % 235 185 35 5 N B 40 |3 | = | 3]

Rotaran sraie [ 90) |55(55| 8 | 8 |65|65(95|75| 75|11 |85 85|85 20 |10 |10 10| 11' 12 | | u |

Claming stroke BRI AR EA AR E'TE'mlm 5 T

HA B -1_25 1 Hﬂ].- 162.6 1775 1351 1511 1751 14’95 15#._5 I 190.-1;-150_-5- 1-?5_5 i 190.6_ 1711 1851 2011 Elﬁ.l 5.1 | ?;i!].l | }‘_ZTI | 2;1-2._1 I

HE | 48 54 ! 6. | & | & | gz I |

He 4 45 ' 51 60 70 0 as

HO 3 o | 8 5 | & [ 75 o0

HE 785 | 865 |1035/1135) 855 | 955 [1115| 93 | 103 | 120 | 99 | 109 | 119 | 104 | 114 | 124 | 134 | 125 | 135 | 136 | 146
WF 535 | §35 785 85 605 705|865 6 | 75 |92 6| ™ @ B @] @ | o | w0 100

Fu 715 | TeS | 54 l L) ..75.5 | 805 | 885 845 | 895 I 93 4915 | QES llﬂlS 98 11]3 108 | 113 118 123 137 142 I

o B L R neLE N T 2

H 29 a5 ’ %5 3 I ) 505

] | » o % A 415

K 35 1l 401 41l 55.1 g3l 751

: I n_ | 0w [ o [ s 13

M 11 11 13 12 13 16 19
T Nx Bs % | n T == | 105 i a5 525

Ny ' 8 0 1 [ 12 ' 15 ' 16 185

P ' : 2 | 2 3 ' s % ' 5

Q 75 o f 9 1 ' 1 14 |1

R 45 55 i 55 68 68 i 9 1

5 16 15 , 175 17 17 1 75

i 25 |5 | 35 |40 {235 85365 (245 (25| 3 25(%0s w5 7 (n v e u | wm % | 4

u 1517 18T 2247 51T AT 5T 4517

v 12 15 | 18 21 M | 0 3

W 11 12 f 14 15 16 16 18

At ooty M14X15 MIEXLS | M20XLS M2zx15 M2TX L5 [ maox15 M3 X 15

¥ 5 6 | B 8 10 ' 10 14

2 (Ghamter) a a3 i a a 4 cs 6

M n u B B! a1 4 55

B T 8 j g 10 1 . 1 12

AC 5 65 ' EE 55 £ 50 &0

BA 14 16 | 18 B P ! a 18

BB 17 2 5 28 24 m s

cA S Tis | 9.5 105 1255 | 14§ 185 _{u

CB 6.5 65 15 85 115 125 115

o 4000 4o | 50 g 5108 | gas g s

EA Mi%07 MEXOS M5x0.3 M5 ME Ma M1o

1A 15 15 ! a5 15 45 l 45 45

B 14 7R R 7" 4 19 : 19 n
gty pt B g Ty 0 RPL/B RPLE | RPLE RPL/E RPL/4 RP1/4 RP3/8

Onseatring ] 48%10 4BX10 | 4Bx19 | a8xly 63%10 68X19 | 6810

Glinder  Duiegchmgics | 72 | 89 | 116133 | 104 13.3 m | 158103 [ 252 | 242 [ 204 [ 345 335|402 1469536 & | 71 | 1003 | 1151

cpscyend Dummgmlese | 109 | 135 175 202 162 242 | 20% | 387|357 | 433 |500 511 |613[715|@7| o6 | 117 | 1542 | 1763 |
| Weigens AR AT AR 11 iR 13 Jas 17| 2 [22|24 |25 32 |35]37 |4 | 48 | 52 | 83 | 63|
Precautions: 3%7. Please refer to Page 44 when the stroke specified in the above table is exceeded.

8. It indicates the weight of a single rotary cylinder including nuts and taper sleeves.




H LH A‘Q Oil Pressure Double-acting Rotary Cylinder Extended Stroke Type (2/2)

Overall Processing Dimension of
Dimension Installation Position

C: plate (attached RP thread plug)

Nx =

Clamping oil port
A

Release oil port ’_;'

Nut (attached) 8 i hread X

Oil release port: O-seal ring (attached) *6

Taper
1/10

7 4 |
Taper sleeve (attached) 2 il =
A Sl @ }

\/
A
VAN

Fu

4-FAthread*s / Ok

[ -_—

Precautions:

B % 4. Please refer to the S dimension and determine the EA thread
depth of the installation bolt according to the installation height.

= 5. Please refer to the HF dimension and determine the depth of the
body installation hole @® HD according to the installation height.
»This processing shows the case of -C: plate connection type.

Release oil port: Rp thread*3 A
- .

(speed control valve can only be installed for type C) .
.

2Gplug (atached) [/ N\ TaperholedQ
(type C only) / \ )
- ' ¢ CClocating groove*1

. . X -
Clamping oil port: Rp thread*3 Type R (Type L: 180°reverse)
(speed control valve can only be installed for type C)

% This figure shows the released state of HLHA-CR-Q.
Precautions:
2% 1. The platen positioning groove faces the oil supply port side when it is clamped.
2% 2. Installation bolts are not included with this product. Please configure it by yourself according
to the installation height and with reference to the S dimension.
% 3. This product does not include the speed control valve. Please refer to Page 80 for additional
equipment.
X Please inquire separately when using in combination with other detection methods and options.



Extended Stroke Type (2/2)

Model

Representation

HLHA (1)-(2)(3) (Example HLHA0550-CR-Q40, HLHA0750-SL-Q45)

(D Dimensions (refer to

(2) Rotation direction (during

0il Pressure Double-acting Rotary Cylinder

(3 Special specification mark

specification sheet) 4 clamping)
0360 0650 Q35: clamp stroke 35mm
0400 0750 L: 19{“ Q40: clamp stroke 40mm
H L HA — R:right Q45: clamp stroke 45mm

0480 0900 Q50: clamp stroke 50mm

0550 1050
Overall Dimension and Installation Part
Processing Installation Table

Model 03:;‘-%\‘"“ HLHA 0400""?"  HLHA 0480-" %" HLHA 0550- %" HLHA 0650- "' HLHA 0750-""%"
Option model Q35 Q30 Q35 Q40 Q30 Q35 Q40 Q30 Q35 Q40 Q45 QS0 Q35 Q40 Q45 QS0 Q30 Q35 Q40 Q45 Q50 Q30
Full stroke 43 39.5 445 495 41 46 51 42 47 52 57 62 50 60 65 42 47 55 60 65 44 49
Eg’[;f]ﬁ"“ stroke 8 95 95 95 11 11 11 12 12 12 12 12 15 15 15 15 12 12 15 15 15 14
Clamp stroke 35 30 35 40 30 35 40 30 35 40 45 50 35 40 45 50 30 35 40 45 50 30
HA 1926  190.1 205.1 220.1 205.1 220.1 235.1 216.1 231.1 246.1 261.1 276.1 246.1 261.1 276.1 291.1 235.1 250.1 274.1 289.1 304.1 257.1
HB 49 54 61 69 81 92
HC 40 45 51 60 70 80
HD 36 40 48 55 65 75
HE 1235 1215 1315 1415 130 140 150 136 146 156 166 176 154 164 174 184 145 155 171 181 191 156
HF 985 | 965 1065 1165 102 112 122 106 116 126 136 146 123 133 143 153 107 117 133 143 153 110
Fu 94 935 985 1035 103 108 113 110 115 120 125 130 123 128 133 138 128 133 141 146 151 147
G 25 25 28 30 31 38
H 29 315 35.5 39 46 52
] 20 225 25.5 30 35 40
K 315 34.1 40.1 47.1 55.1 63.1
L 66 73 83 88 106 116
M 11 11 13 12 13 16
Nx 235 26 30 335 39.5 45
Ny 8 9 11 12 15 16
PA 3 3 3 3 5 5
PB 8 8 8 8 10 10
Q 7.5 9 9 11 11 14
R 45 5.5 5.5 6.8 6.8 9
S 16 15 17.5 17 17 21
T 45 415 465 515 43 48 | 53 44 49 54 59 64 52 57 62 67 44 49 57 62 67 46
] 157 187 227 257 307 35.57
v 13 15 18 21 24 30
w 11 12 14 15 16 16
X (nominal x pitch) M14x15 M16x1.5 M20x1.5 M22x1.5 M27x1.5 M30x1.5
Y 5 6 8 8 10 10
Z (chamfer) c2 c3 c3 c3 c4 cs
AA 22 24 30 32 41 46
AB 7 8 9 10 11 11
AC 245 26.5 33 35.5 45 50
BA 14 16 19 22 25 31
BB 17 20 25 28 34 40
CA 50—005 79005 99005 100—005 12‘59005 140—005
cB 65 6.5 7.5 95 115 125
cc 45005 45005 55005 65005 65005 85005
EA 144%0.7 M5x0.8 M5x0.8 M6 M6 M8
JA 35 35 35 35 45 45
JB 14 14 14 14 19 19
0il
;‘(‘ﬁflymType RP | RP1/8 RP1/8 RP1/8 RP1/8 RP1/4 RP1/4
clamping
O-seal ring 43x1.9 48x1,9 48x1.9 48x1.9 6.8x1.9 6.8x1.9
~ During 151 198 223 248 287 32 357 433 484 536 587 639 67
Cy]mFler clamping
z;‘p;ac)ty During
release 228 298 336 374 441 495 548 639 715 79.1

g;ight Kg 11 14 15 16 21 23 24 28 3 32 34 36 45 48 5 53 55 59 63 66 69 93
Precautions: ¥ 8lItindicates the weight of a single rotary cylinder including nuts and taper sleeves.

HLHA-Q

HLHA 0900- %"

Q35 Q40 Q45

57

14

35
272.1

51

62

17

40
296.1
107
95
90
182
136
160
46
59.5
47.5
75.1
136
19
5215]
18.5

10
17.5
11
25
59
45 7
37
18

Q50
41

Q25

67 46

17 17

45 50 25

311.1 326.1 267.1

192 202 162

146 156 106

165 170 161

64 69 43

M39x1.5

14
c6
55
12
60
38
49

185%05

9.8

115
85005
M10
4.5
22

RP3/8

6.8x1.9

10.4

109 114 114

(mm)

HLHA 1050- %'

Q30 Q35 Q40 Q45 Q50
51 56 61 66

16
30 35 40 45 50

282.1 297.1 312.1 327.1 342.1
122
110

172

116 126 136

166

88.1
152
22
60
22.5

20
14
32
53 58
55f7

48 63 68
43
19
M48x1.5
14
cé6
65
12
71
44
60
23%05
13.5
1030 05
M12
4.5
22

RP3/8

6.8x1.9

737 80.4 871 853 954 1117 121.8 132 129.8 144.4 168.2 182.9 197.7 169.3 190 210.6 231.3 251.9 272.6

86.7 943 102.1 102.1 122.6 132.7 126.8 1419 166 181.1 196.2 199.6 222.3 258.6 281.3 303.9 266.7 299.2 231.7 364.2 396.7 429.3

121 127 134 141 148



H LH A-Y 0il Pressure Double-acting Rotary Cylinder Special Rotation Type

8}’;‘;};01‘ 2% 1. The position of the platen locating groove
] ) The position of the platen locating groove in the released state varies
C: plate connection: type (speed control valve with RP with the change of the rotation direction and rotation angle during
thread plug can be installed) clamping. When clamped, it faces the supply port side.
X Released state Clamping state
X
Same position of Type R/L

Clamping oil port

Release oil port

Processing dimension of

Nut (attached) el _ ThreadX installation position
I
] 8N SIE
| i - Debur *6 : 2D -
i g 7 I 15/ _00.6
L2 4 /
=| 8o 1 = ; '\.1 /*6
a.d 7770077
£ Al i A
I Taper sleeve (attached) 2 BB ‘f:% 7
- . 7
Ll l = v /
2 v g
| d = ':// w2
] 55 I~ 1
— | ﬂ_f i “'? 7 I ‘!/ l
(5] | \ /
= |l_L: 7 Aad % x|
”$" 3 /4 !

HE

il
i’.

Oil release port & P*6

Nyx6 Ny*b

Release oil port: Rp thread*3

21 0il clamping port & P*6 & 9 |

(speed control valve can only be installed for type C) | ™. ;
N /
I 4-EA thread*4 / oK
l*" - :
=
2 0 | =
= 1
| .
| / . Precautions:
7 —4-2 R : ; . .
2-Gplug (attached)  / / ‘ Taper hole #Q X 4. Please refer to the S dimension and determine the CA thread

depth of the installation bolt according to the installation height.
Gicelotatnegrogye™d 5. Please refer to the HF dimension and determine the depth of the

body installation hole ® HD according to the installation height.
2 6. This processing shows the case of -C: plate connection type.

(type C only)

Clamping oil port: Rp thread*3

[speéd control valve can only" be installed for type C)

% This figure shows the released state of HLKA-CCN.

Precautions:

2% 1. The platen positioning groove faces the oil supply port side when it is clamped.

2% 2. Installation bolts are not included with this product. Please configure it by yourself according
to the installation height and with reference to the S dimension.

2% 3. This product does not include the speed control valve. Please refer to Page 80 for additional
equipment.

> Please inquire separately when using in combination with other detection methods and options.



Special Rotation Type ~ Oil Pressure Double-acting Rotary Cylinder ///-

HLHA (1)-(2)(3)  (Example HLHAO550-CR-Y30)

(DDimensions (refer to specification sheet) 2 Rotation direction (during clamping) @ Special specification mark

| 0360 0650 L urnlet Y30 rofason ange 30°

HLHA 0400 0750 . ¥45: damping stroke 45 *
0480 0900 R:turnright ¥60: damping stroke 60 ®
0550 1050

(mm)

e modu '1'3!3 Ya5 | Y50 YaD | W.E 'I'GJ:I | Y30 | ¥d5 | ¥EQ [ Y30 Y45 | YeO | Y30 ‘H-S el | 'I":I:I Y45 | YED | | YI0 | Y45 | ¥EO 'r'm Y45 | YEQ
Kt gl EAICAED -15" BO® | _3#45|'EU'|II‘-E BU"BI:I‘|-E|‘ Bo* | 3 | -15'50'; _15‘ 5 | a0 | 45‘ &0*
3 | 214 19 |48 %66 | 284 |

Fut e [109 115 21 LLE 13 13 [121] 13 138|147 156 166 153 165 176 1807 20 213 |
Bmsmwow(w9 | 20 35 42 35 43 5 41| 5 |SB 47 56 66 53 | 65 |76 | 67| 8 |93 710 [va| 1s [ e w06 124
F—— B 8 [ 10 10 1 T 16
| HA 110151021 1028 11211129 1136 125212611269 | 1418 1427|1437 1514|1526 1537 1758 177.0 1754 197 1985 19995 2329247 2365
[ HB 4 54 O B T e | o 1m
| e | » [ & | = | & | ®w [ w | s | ue
HD % 40 I j & &5 ™ 2 a0 105
| HE | s | ws | b ! B ¥ w | 120 | 144
M 05 | w5 | 8 | = 8 | 0n [ u | m |
| |19 525 622 655663 &7 | 141| 75 758 @27 a5 |s46 8a3| e85 006 1047] 106 [107.3)1225]1244] 159 | 1431466 1aas
G P 25 ® _ B 3l p | &% 5
W 2 [ [ == | » | r: | 5 | fa5 ' &7
[ 0 | zs | 285 | £ | ED [ a0 ' 475 [ 55
T ms [ w e m [ wm | w [ m |
L 66 73 8 g B 106 116 1 1% 152
b T [ L C ™2 —
:_N-f W w | w | ms | ®s | & | @ | @
| My B _ 3 I m | & | & B | ws | ms
2 3 | 3 | s | s s s | s | s
i Q 5 g . i i n ! | i | 175 | o
R 45 55 55 2 54 68 3 1 14
E _ B | =10 | ms | i T | 1 i x| n
[T 128135142 135|143 ] 15 |141] 15 [158|167 176|186 173 185|196 207) 22 | 233 219|134 48 268|286 04
= ol e B L i "E_f._n""T""_'Eﬁ"'"_"_sié'ﬁ kol
- T I o | . - i - | -
[ w 1 12 14 | 15 | 1 1 | 18 | 1%
—— | MMXLS | MIEX1S | MIDXLS | MZZXLS | MZTXLS | M3OXLS | MBXLS | W4BxLS
i ¥ . 5 _ 3 . 8 ! 8 [ 10 . 0 | 1 . 14
e | [ _ £a £ . £l o4 . €5 | &3 . 6
L . 1 _ 2 . 0 i n _ 4l . s 55 . &
PrS 7 8 o = 10 1 11 - 12 12
| ac us | s n | =5 48 ' = ! % ' n
[ B w | 1 15 _ n | 1 | 1 ' e | a4
[o8 | 2 35 | W | S | w | @ | o0
| ca 6 0w | T gw | % .G | 0 Bw| 135.8m| M.dw | 1SS |  Zide
@ s 65| 5| 85 | us | mE | 115 . 125
1| {’c ﬂ -?Jl d ‘Dﬁﬁ 5 ‘leh | G 'H!:: G -Iil:lm B -||:-\1 | a —:I:Iu lu-l:-ﬁ
) MAXOT | MExX08 | MSx0B | M e mi | M10 ML2
| A 15 15 35 ' 15 45 45 ; 45 45
e W w | | w | & | s | = | =
o4t g e L RPLE RPLE RPLE RPL/ R4 | RPYB AP
m.u.q sax1s | a,'i'x'j'_'q I umg | amxis | eax1s | eBx18 |  6Ax18 | GAx1g

Glisdwr  Dwinghowes | 33 | 4 | 43 | 58 [ 62 [ 65 | 85 [ 90 [ 97 151 161171 05 [ 221|236 38 [ 406 432 [ 587 (631 674 1024103 73
|opagyon P | 59 g1 |65 BT |91 98 | 13| M4 |8 34 1T 383 W3 AT| ¥ 565|604 643 903 |71 1039 1613 173 64T

!wa kg 07 0% 14 | 1 % 41 [ T2 101

Precautions: ¥ 7. Itindicates the weight of a single rotary cylinder including nuts and taper sleeves.




_\\\ 0il Pressure Swing Clamp Cylinder Series

HLHA

HLHA

HCTHIE-TS

(Example: HLHA0360-07)

(1) Dimensions (refer to specification sheet)

0360 0650
0400 0750
0480 0900
0550 1050

(Example: HCTHO6-TS)

07 : #ifLE

(mm)

(1) Dimensions (refer to specification sheet)

A [ 15 [ 18 | 22 | 25 [ 30 [355 ] 45 | 55
B | 17 20 25 | 28 34 40 49 60
= I 16 1 | n 25 31 38 44

(mm)

02 16 ! !
HCTH W ™ TS : KK A | 15 18 | 224 | 25 | 30 | 355 | 45
04 B | 16 20 25 28 34 40 49
06 Sl EE 16 21 20 22 29 | 38
HA 17 19 23 26 29 35 43 50
HB 14 16 19 2 | 25 31 8 | 44
HC 3 3 | 4 4 4 4 5 6
HD 105 10.5 125 145 | 165 175 ‘ 175 | 20.5
HE 1749 | 207 254§ 28 4% 3474 407§ 49+% 60 ™
HF 15 ’ 17 2 235 | 29 Et! l a2 | 51
HG 8 9 115 13 _ 155 18 25 28
HH 47§08 PRITD 54408 6908 | 61308 g go grgon | 10§92
Locating pin ¢4{h83gc1;} WEUD'ISJ ¢5(ha—°0.ﬂ'ld mhagﬂﬂ'ld ¢5WPnnla] WW&M} MBEDDH] mm—oemz}
x10 x10 x12 x14 x16 %16 16 x20
HLHA O -07 HCTH When taper sleeve is not used When taper sleeve is used
A HE#005 gD hm HE+005  gup g
| o8
‘ Taper 1/10 rB
I S —
; i \ (9HE) 3 L .owe S8
i ! | I‘ A El . HE El .
PN : O i———
I i [} - " i v
| 1 I 3 T 2
L §1 '
2 Taper 1/10 I ahia | aiera |
B-B c-c

(mm)

HA | e 22455 2635 30:3% 35.53% 25
HB 12.4 16 19.9 225 27.3 32 405

HC 9 . 105 10.5 105 125 125 145

HD g 4 4gm 54 6" 63™ 69"
HE 755 | 91 11.1 126 151 181 226

HF 164 20%= 254 283 3419 40" 495
HG 13 I 21 24 285 34 42 |
HH 13 16 21 2 22 2 38

HJ 16 .20 25 25 27 35 45
Locating pin #3(h8)x10 | ¢4(h8)x 10 | 64(M8)x10  ¢5(8)x10  ¢6(NB)x12  ¢6(h8)x12  $6(h8)x 14
Taper deeve model HCTHO1-TS | HCTHOZ-TS HCTHO4-TS HCTHO6-TS HCTH10-TS HCTH16-TS [ HCTHZ25-TS




